Name: Show work needed to justify your answer.| Date:

Exam: # 1: Math IBSL - Chapter 2: Functions 50 points

: . a 4 points each
1 Decide whether the following relations are (4p )

functions or not.  Explain your answer.

"|x|-9|-5] 0] 1]/3]5| bl x[-11][-1|-1]11
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(4 points each)

2 State the domain and range for the
functions below:

-
y
D: ["3 1{]
: B3,
a\ : {"zi R E ; ) ]
; : (4 points each)
3 Use the functions f(x) = x* - 6, g(x) = -2x
and h(x) = -4 to evaluate:
a. (1) + h(2) b. g '(-3) C. flg(x))
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Exam: # 1: Math IBSL - Standards 44 - 47 - Trigonometry 50 points

4 . The graph below shows y = f{x) for -3 < x< 2. (4 points)

a i Write down the value of f{—3).
ii Write down the value of f(2).

b Find the domain of f~!.

¢ Sketch the graph of f~!.

Ta 0) ng-;)s-‘u
Gy [f2) = 7]

L) o C-44] {or FJ(X)

) . ‘ . 5 point
5. Let flx) =2Vx + x%. Let & be a function such (5 points)

that #(16) =-2. Find (f= h1)(-2).

50 2) = T08) = 2T+ 18
< 31250

Lf k) - .?é'g

6. Given fix) =-2x+ 5 and g(x) =4x - 1: (4 points each)

a find an expression for f(g(x))

b solve fig(x)) = 12. M) -gx+1°1Z
o £_0* §(4x-1) —§x= 5

= —2(4x-1) 15 x: 5|
T<$x+2t5 3

g0 = wx+y
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